Calculus 6.2-5,7.2—-7.3 Review

Find the average value of the function f(x) = x? + 6x — 2 on the interval [-2, 1]. No calculator.
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Integrate using anti-derivatives (no calculator).
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What are the two parts of the Fundamental Theorem of Calculus?
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e*cose* — 5x*cosx®

If y' =5,y" = =3, and y is the number of gallons in a tank, the gallons are

increasing at a decreasing rate.

If you integrate a rate of mosquitoes, you will get



the change in the number of mosquitos.

Evaluate the integral.
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Evaluate the integral.
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3000 Problem
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Virginia Tech Substitution Way
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Virginia Tech The Tabular Way
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Virginia Tech Substitution Way
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Derivative Integral
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Extra Fun
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secx + tanx sec?x + secxtanx
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Over the Top Fun
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